A carrier wave with amphtude f 250 V is amplitude

modulated by a sinusocidal b:ase pand signal of amplitude

150V. The ratio of minimum ampﬁlmde to maximum amplitude

for the amplitude modulated wave is 50 : x, then value of x is



Explanation

Given, the amplitude of the carrier wave, A, = 250V

The amplitude of the message wave, A, =150V
We know that,
The maximum amplitude, A5, = A- + A,

Substituting the values in the above equation, we get

Az, =250 + 150 = 400 V

Y

MNe know that
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- 250 + 150 = 400 V

Amax

We know that,

The minimum amplitude, Aqin = Ac — Am

Substituting the values in the above equation, we get

Amin =250 — 150 = 100 V

Thus, the ratio of the minimum amplitude to the maximum

amplitude of the modulated wave is
|

Awin, 100 1

Aax 400 T W

Comparing with, 1 - x

The value of the x = 4
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